
Woodman’s Parts Plus 
www.woodmanspartsplus.com 

Osburn 2300 

Note that the quantities listed here below are the standard amounts that are found in each unit and not 
the number of items you need to order. 

# ITEM # DESCRIPTION QTY/UNIT 

1 PL30163 RIGHT SIDE DECORATIVE PANEL 1 

2 99999 BUILD TO ORDER 1 

3 AC02050 ULTRA-QUIET 100 CFM BLOWER WITH VARIABLE SPEED CONTROL 1 

4 44073 CROSSFLOW BLOWER 115V-60HZ-39W 100 CFM 1 

5 99999 BUILD TO ORDER 1 

6 44085 RHEOSTAT KNOB 1 

7 44087 RHEOSTAT NUT 1 

8 44080 RHEOSTAT WITH NUT 1 

9 AC04090 NG-1800 SMOKE BY-PASS DAMPER KIT 1 

10 PL30257 PROTECTION WASHER 1 

11 21120 INSULATING WASHER 1 

12 AC07868 1/2 " BLACK COIL HANDLE 1 

13 PL52683 REMOVABLE HANDLE 1 

14 PL30164 LEFT SIDE DECORATIVE PANEL 1 

15 30124 SCREW #8 - 32 X 5/16'' TRUSS QUADREX ZINC 8 

16 SE53585 GLASS RETAINER WITH SCREW KIT (10 PER KIT) 8 

17 PL30192 GLASS FRAME 2 

18 SE30191 REMPLACEMENT GLASS WITH GASKET 11 13/16" X 15 7/8" 1 

19 AC06400 BLACK SELF-ADHESIVE GLASS GASKET KIT (6') 1 

20 30123 SCREW #8 - 32 X 5/8'' PAN QUADREX ZINC 4 

21 30101 SPRING TENSION PIN 5/32" DIA X 1 1/2" LONG 1 

22 SE24216 REPLACEMENT DOOR WITH HANDLE AND LATCH WITHOUT GLASS 1 

23 AC06900 BLACK 1/2'' ROUND X 9' GASKET KIT WITH ADHESIVE 1 

24 AC07900 DOOR HANDLE AND LATCH KIT 1 

25 PL30206 HANDLE ROD 1 

26 AC09185 DOOR LATCH KIT 1 

27 AC07868 1/2 " BLACK COIL HANDLE 1 

28 OA10069 BROWN CAST IRON DOOR OVERLAY FOR OSBURN 2300 1 

28 OA10073 BLACK CAST IRON DOOR OVERLAY FOR OSBURN 2300 1 

28 OA10074 GOLD CAST IRON DOOR OVERLAY FOR OSBURN 2300 1 

https://www.woodmanspartsplus.com/


Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

28 OA10075 BRUSHED NICKEL CAST IRON DOOR OVERLAY FOR OSBURN 2300 1 

29 30124 SCREW #8 - 32 X 5/16'' TRUSS QUADREX ZINC 1 

30 30450 OSBURN DOOR LOGO 1 

31 AC07866 1/4 " BLACK COIL HANDLE 1 

32 SE30073 AIR CONTROL ROD ASSEMBLY 1 

33 SE30028 AIR CONTROL DAMPER 1 

34 30220 FLANGED LOCKNUT 1/4-20 1 

35 30096 1/4-20 X 3/4" ZINC CARRIAGE BOLT 1 

36 PL09524 BRICK RETAINER 2 

37 29011 4'' X 9" X 1 1/4" REFRACTORY BRICK HD 21 

38 PL36022 4" X 5 1/4" X 1 1/4" REFRACTORY BRICK 1 

39 PL36054 4" X 9" X 2 1/16" X 4 3/4'' REFRACTORY BRICK 2 

40 SE16059 ASH DUMP PLUG 1 

41 OA10076 BLACK LEG KIT WITH ASH PAN 1 

41 OA10077 GOLD PLATED LEG KIT WITH ASH PAN 1 

41 OA10078 BRUSHED NICKEL PLATED LEG KIT WITH ASH PAN 1 

42 PL30185 LEFT OR RIGHT LEG SUPPORT 2 

43 30050 LEVELING BOLT 3/8-16 X 1 1/2" 4 

44 24218 BLACK CAST IRON LEG WITH LEVELING BOLT 4 

44 PL24218-01 GOLD PLATED CAST IRON LEG WITH LEVELING BOLT 4 

44 PL24218-02 NICKEL PLATED CAST IRON LEG WITH LEVELING BOLT 1 

45 SE30186 ASH DRAWER FOR OSBURN 2300 ON LEGS 1 

46 30141 LEG KIT HARDWARE BAG 1 

47 OA10079 PEDESTAL KIT WITH ASH PAN 1 

48 PL30182 PEDESTAL 1 

49 PL30184 PEDESTAL TOP FRONT 1 

50 SE35047 ASH DRAWER 1 

51 28062 BLACK DRAWER HANDLE 3 25/32" 1 

52 30108 MECHANICAL SCREW M4 X 8MM PAN PHILLIPS ZINC 2 

53 30418 FINISHING PLUG 3/8" 1 

54 PL30183 BASE 1 

55 SE45434 OSBURN 2300 MANUAL KIT 1 

 

https://www.woodmanspartsplus.com/

